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Review Review HW#4HW#4

digital filters:  any negatives?digital filters:  any negatives?

won’t see anything outside spectral region won’t see anything outside spectral region 

open up SW: won’t hurt s/n but probe andopen up SW: won’t hurt s/n but probe and rfrf have limitationshave limitationsopen up SW:  won’t hurt s/n, but probe and open up SW:  won’t hurt s/n, but probe and rfrf have limitationshave limitations

Bruker smilesBruker smiles

NOEs  and  decoupling / couplingNOEs  and  decoupling / coupling

how useful might coupling be?  occasionalhow useful might coupling be?  occasional

M ikM ik T tbT tb llMaikMaik TretbarTretbar exampleexample
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InIn--Lab exam next weekLab exam next week

---- schedule with Heike or schedule with Heike or ZhihuiZhihui during lab session this weekduring lab session this week

s/n s/n  c c  extext  obsobs
3/23/2  BB00

3/23/2  t  / Tt  / T
((ClaridgeClaridge section 4.4section 4.4))

NOE, quantitation, couplingNOE, quantitation, coupling
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s/n s/n  c c  extext  obsobs
3/23/2  BB00

3/23/2  t  / Tt  / T ((ClaridgeClaridge section 4.4)section 4.4)e te t obsobs 00

s/n = signal to noises/n = signal to noise

c = concentration of nuclei (including nat abundance)c = concentration of nuclei (including nat abundance)c = concentration of nuclei (including nat. abundance)c = concentration of nuclei (including nat. abundance)

extext = = magnetogyricmagnetogyric ratio of  excitation nucleusratio of  excitation nucleus

obsobs = = magnetogyricmagnetogyric ratio of observed nucleusratio of observed nucleus

BB00 = magnetic field strength= magnetic field strength

t = time of experiment, usually t = time of experiment, usually  NSNS

signal signal  tt

noise noise  tt

s/n  s/n   signal / noise  =  t/signal / noise  =  t/t  =  t  =  tt

T = temperature (K)T = temperature (K)
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T = temperature (K)T = temperature (K)


